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JPA
Hibernate:

select
user@_.user_id as user_idl_8_0_
user@_.created_at as created_2_8_0_
user@_.modified_at as modified3_8_0_
user@_.behance as behanced4_8_0_
user@_.detail as detail5_8_0_
user@_.device_token as device_t6_8_0_
user@_.email as email7_8_0_
user@_.first_work_id as first_wo8_8_0_
user@_.info as info9_8_0_
user@_.instagram as instagrl@_8_0_
user@_.magazine_view_count as magazinll_8_0_
user@_.notion as notionl2_8_0_
user@_.role as rolel3_8_0_
user@_.scrap_count as scrap_cl4_8_0_
user@_.selected_first_at as selectel5_8_0_
user@_.tag as tagl6_8_0_
user@_.user_name as user_nal7_8_0_
user@_.user_status as user_st18_8_0_
user@_.view_count as view_co19_8 0_
user@_.work_thumb_nail as work_th20_8_0_

from
"user" user0_

where

user@_.user_id="?

o APIE QAT QX9 user MEE 71 = HE|

sSQL
SELECT
user_id, created_at, modified_at, behance, detail, device_token
email, first_work_id, info, instagram, magazine_view_count
notion, role, scrap_count, selected_first_at, tag, user_name
user_status, view_count, work_thumb_nail
FROM

"user"
WHERE



user_id = <AM8X} ID>;

Explain

Output  F Plan
ration Params Actual Rows Total Cost

Select

@ Index Scan  table: user; index: user_pkey; 1 8.15

Operations Tree

e Actual Total Time: 0.015

2w 2|

Hibernate:

select
authprovid@_.auth_provider_id as auth_prol_o_,
authprovid@_.created_at as created_2_0_,
authprovid@_.modified_at as modified3_0_,
authprovid@_.provider_type as provider4_0_,
authprovid@_.user_id as user_id5_0_

from
"auth_provider" authprovid@_

where
authprovid@_.user_id="?

e APIE Q&% X9 third party user §EE 7IX &= 2|

SQL
SELECT
user_id, created_at, modified_at, behance, detail, device_token,
email, first_work_id, info, instagram, magazine_view_count,
notion, role, scrap_count, selected_first_at, tag, user_name,
user_status, view_count, work_thumb_nail
FROM
"user"
WHERE
user_id = <AM2X} ID>;
Explain

B Output B Plan

n Params ows cf Actual Total Time Startup Cost Actual Startup Time Raw Desc

Select Planning Time
B Full Scan (Seq table: auth_provider; 0.009 0.0 0.008 Parallel Aware

e Actual Total Time: 0.009

3tHm 72



Hibernate:

select
user@_.user_id as user_idl1_8_0_,
user@_.created_at as created_2_8_0_,
user@_.modified_at as modified3_8_0_,
user@_.behance as behanced4_8_0_,
user@_.detail as detail5_8_0_,
user@_.device_token as device_t6_8_0_,
user@_.email as email7_8_0_,
user@_.first_work_id as first_wo8_8_0_,
user@_.info as info09_8_0_,
user@_.instagram as instagrl@_8_0_,
user@_.magazine_view_count as magazinll_8_0_,
user@_.notion as notionl2_8_0_,
user@_.role as rolel3_8_0_,
user@_.scrap_count as scrap_cl4_8_0_,
user@_.selected_first_at as selectel5_8_0_,
user@_.tag as tagl6_8_0_,
user@_.user_name as user_nal7_8_0_,
user@_.user_status as user_st18_8_0_,
user@_.view_count as view_col9_8_0_,
user@_.work_thumb_nail as work_th20_8_0_

from
"user" user@_

where
user@_.user_id="?

o APIE Q&SI RX9| user HEE 7= FHE|

SQL
SELECT
user_id, created_at, modified_at, behance, detail, device_token,
email, first_work_id, info, instagram, magazine_view_count,
notion, role, scrap_count, selected_first_at, tag, user_name,
user_status, view_count, work_thumb_nail
FROM
"user"
WHERE
user_id = <AM2X} ID>;
Explain

B Output  [F Plan

[=] Operation Params ows Actual Total Cost Actual Total Time Startup Cost Actual Startup Time.

T Vv Select .0..
G
? Index Scan table: user; index: user_pkey; 8.15 0.015 014 0.014 Parallel Aware = fal...

e Actual Total Time: 0.015

4%y 22|

Hibernate:
select
user@_.user_id as user_idl1_8_0_,
user@_.created_at as created_2_8_0_,



user@_.modified_at as modified3_8_0_,
user@_.behance as behance4_8_0_,
user@_.detail as detail5_8_0_,
user@_.device_token as device_t6_8_0_,
user@_.email as email7_8_0_,
user@_.first_work_id as first_wo8_8_0_,
user@_.info as info09_8_0_,
user@_.instagram as instagrl@_8_0_,
user@_.magazine_view_count as magazinll_8_0_,
user@_.notion as notionl2_8_0_,
user@_.role as rolel3_8_0_,
user@_.scrap_count as scrap_cl4_8_0_,
user@_.selected_first_at as selectel5_8 0_,
user@_.tag as tagl6_8_0_,
user@_.user_name as user_nal7_8_0_,
user@_.user_status as user_st18_8_0_,
user@_.view_count as view_col9_8_0_,
user@_.work_thumb_nail as work_th20_8_0_

from
"user" user@_

where
user@_.user_id="?

o QFY U RXNO| RN HEE HNRE HE|

SQL
SELECT
user_id, created_at, modified_at, behance, detail, device_token,
email, first_work_id, info, instagram, magazine_view_count,
notion, role, scrap_count, selected_first_at, tag, user_name,
user_status, view_count, work_thumb_nail
FROM
"user"
WHERE
user_id = <At8X} ID>;
Explain

Output  F Plan

Params ows Actual Rows Total Cost Actual Total Time Startup Cost Actual Startup Time
Select Time = 0.0.
© Index Scan table: user; index: user_pkey; 815 0.015 014 0.014 Parallel Aware = fal...

Operations Tree

e Actual Total Time: 0.015

StHm 72|

Hibernate:

update
"user"

set
created_at=7,
modified_at=7,
behance=7,
detail=7,
device_token=7,
email=7?,
first_work_id=?,



info=7,

instagram=7,

magazine_view_count=7?,

notion=7,

role=?,

scrap_count=7,

selected_first_at=7,

tag=7,

user_name=7,

user_status=7?,

view_count=7,

work_thumb_nail=?
where

user_id=7

e user9| viewCountE 2/= update 2|

SQL

UPDATE "user"
SET

view_count = <¥C|0|EE =3&|4>;
WHERE

user_id = <At8X} ID>;

Explain

B output [ Plan

=] Operation Params Actual Rows Total Cost Actual Total Time Startup Cost Actual Startup Time esc

= v = Update Planning Time = 0.1
© Index Scan table: user; index: user_pkey; 815 0.016 014 0.015 Parent Relationship.

Operations Tree

e Actual Total Time: 0.016
6tHm 2|

Hibernate:
select
work@_.work_id as work_idl_12_,
work@_.created_at as created_2_12_,
work@_.modified_at as modified3_12_,
work@_.detail as detail4_12_,
work@_.is_active as is_activ5_12_,
work@_.is_first as is_first6_12_,
work@_.photo_url as photo_ur7_12_,
worke_.title as title8_12_,
work@_.user_id as user_idl10_12_,
work@_.view_count as view_cou9_12_
from
"work" work@_
left outer join
"user" userl_
on work@_.user_id=userl_.user_id
where
userl_.user_id="?
and work@_.is_first=7?
and work@_.is_active=?



order by
work@_.created_at desc

. o HUBSS INRE U2

SQL
SELECT
work_id, is_active, is_first,
photo_url, title
FROM
"work"
LEFT OUTER JOIN
"user" ON work.user_id = "user'".user_id
WHERE

"user".user_id = <AF2XI ID> AND
work.is_first = true AND
work.is_active = true

ORDER BY
work.created_at DESC

Explain

Total Cost Actual Total Time Startup Cost Actual Startup Time Raw

Planning Time = 0....

18.8 0.033 18.8 0.032 Parallel Aware = fal.
1879 0.028 K 0.026 Parent Relationshi...
10.62 0.01 0.01 Parent Relationshi
8.15 0.015 4 0.015 Parent Relationshi

e Actual Total Time: 0.033
Nested Loops (Inner):
e Actual Total Time: 0.028
o S HIO|Z('work'zt 'user') 7t &QIE »sth= O A2 AH| AlZHILICE
Full Scan (on table: work):
e Actual Total Time: 0.011
o 'work' EIO|Z0IM & AZMS &= O] Z2! AZHULICH (B A2 QIEIAS ALESHX| 41 E|O|2
ol BE HIAEE HA
Index Scan (on table: user, index: user_pkey):
e Actual Total Time: 0.015=

o 'user' H|O|E0|A 7|2 7| QIHA (‘user_pkey')S AR50 QIHIA AFNS 3H5H= O] Z2I A|ZHIL
Ct.
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Hibernate:
select

work@_.work_id as work_idl_12_,
work@_.created_at as created_2_12_,
work@_.modified_at as modified3_12_,
work@_.detail as detaild_12_,
work@_.is_active as is_activ5_12_,
work@_.is_first as is_first6_12_,
work@_.photo_url as photo_ur7_12_,
work@_.title as title8_12_,



worko_

.user_id as user_id1l0_12_,

work@_.view_count as view_cou9_12_
from

"work" work@_
left outer join

"user" userl_

on work@_.user_id=userl_.user_id

where

userl_.user_id=?

and work@_.is_first=?

o RXO HYUESSS 7H AHM(HEZ) S 7= 72

SQL
SELECT
work_id, is_active, is_first,
photo_url, title
FROM
"work"
LEFT OUTER JOIN
"user" ON work.user_id = "user'".user_id
WHERE
"user'".user_id = <AEXl ID> AND

work.is_first = true AND

work.is_active true
ORDER BY

work.created_at DESC

Explain

B Output
=

™ v

[ Plan

ested Loops (M
B Full Scan (Se table: wor
? Index Scan (Il table: user;

Parent Relationship...
Parent Relationship...

dex: user_pkey;

Operations Tree

Nested Loops (Inner):
e Actual Total Time: 0.065

e = HIO|E('work'a} 'user') 7t =9I

o

>st= o Z2l AR AlZHL(CE
Full Scan (on table: work):

Actual Total Time: 0.047

o 'work' HIO|E0IM & ATHE S3St= O AT A[ZIULICE (B A2 QIHAE AL8SHA| 241 H|O|E
ol BEAEE HA
Index Scan (on table: user, index: user_pkey):
e Actual Total Time: 0.015=
o 'user' E|O|Z0lIM 7|2 7| QIEIA ('user_pkey')E AHESI0] QIHIA ATHE EISH= O] A2l AlZHIL
ch.
8emy #z|
Hibernate:

select
userscraps@_.user_id as user_id6_10_0_,
userscraps@_.user_scrap_id as user_scrl_10_0_,
userscraps@_.user_scrap_id as user_scrl_10_1_,



userscraps@_.created_at as created_2_10_1_,
userscraps@_.modified_at as modified3_10_1_,
userscraps@_.status as status4_10_1_,
userscraps@_.target_id as target_i5_10_1_,
userscraps@_.user_id as user_1id6_10_1_
from
"user_scrap" userscrapso_
where
(
userscraps@_.status = true
)

and userscraps@_.user_id=7?

o R ATUMSE TINRE 2

SQL

SELECT

user_scrap_id, created_at, modified_at, status, target_id, user_id
FROM

"user_scrap"
WHERE

status = TRUE AND

user_id = <AMX} ID>;

Explain

Params Actual Rows Total Cost Ac al Time Startup Cost Actual Startup Time

B Full Scan (Seq table: user_scrap; 24.75 0.0 0.063 Parallel Aware = false...

Operations Tree

e Actual Total Time: 0.064

9~118m| 32|

Hibernate:

update
"work"

set
created_at=7,
modified_at=7,
detail=7,
is_active=7,
is_first=7,
photo_url=7,
title=7,
user_id=7,
view_count=?

where
work_id=7?

SQL

UPDATE
"work"



SET

created_at = <M MM LAl>, modified_at = <M =F LA|>, view_count = <M =s|$
WHERE

work_id = <% ID>;

Explain

B gam_dev.p
output [ Plan
Params Actua otal Cos Actual To e Startup Cost

pdate Plal

? Index Scan table: work; index: work_pkey; 1 8.16 26 0.14 L Parent Relationship...

Operations Tree

e Actual Total Time: 0.026 (F2| 71, 0.026N)
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@odifying

@Query("UPDATE User u SET u.status = :status WHERE u.id IN :ids")
void updateUsersStatus(String status, List<Long> ids);
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JPA

Hibernate:
select

user@_.user_id as user_idl_8_
user@_.created_at as created_2_8_
user@_.modified_at as modified3_8_
user@_.behance as behance4_8_
user@_.detail as detail5_8_
user@_.device_token as device_t6_8_
user@_.email as email7_8_
user@_.first_work_id as first_wo8_8_
user@_.info as info09_8_
user@_.instagram as instagrl@_8_
user@_.magazine_view_count as magazinll_8_
user@_.notion as notionl2_8_
user@_.role as rolel3_8_
user@_.scrap_count as scrap_cl4_8_
user@_.selected_first_at as selectel5_8_
user@_.tag as tagl6_8_
user@_.user_name as user_nal7_8_
user@_.user_status as user_st18_8_
user@_.view_count as view_co0l9_8_
user@_.work_thumb_nail as work_th20_8_

"user" user0_

user@_.user_id="?

o APIE Q&S QX9 user MEE 71 = HE|

SQL

SELECT
user_id, created_at, modified_at, behance, detail, device_token
email, first_work_id, info, instagram, magazine_view_count
notion, role, scrap_count, selected_first_at, tag, user_name
user_status, view_count, work_thumb_nail

FROM
"user"

WHERE

user_id = <AtE%t ID>



Explain

B Output  [EF Plan

[=] Operation Params ows Act vs. Total Cost Actual Total Time Startup Cost Actual Startup Time.

T v Select
G
? Index Scan table: user; index: user_pkey; 8.15 0.015 0.14 0.014 Parallel Aware = fal...

Operations Tree

e Actual Total Time: 0.015

28 72| (M T2 S)

Hibernate:

select
authprovid@_.auth_provider_id as auth_prol_o_,
authprovid@_.created_at as created_2_0_,
authprovid@_.modified_at as modified3_0_,
authprovid@_.provider_type as provider4_0_,
authprovid@_.user_id as user_id5_0_

from
"auth_provider" authprovid@_

where
authprovid@_.user_id=?

o APIE Q&S SX9| third party user YEE 7= 2

SQL
SELECT
user_id, created_at, modified_at, behance, detail, device_token,
email, first_work_id, info, instagram, magazine_view_count,
notion, role, scrap_count, selected_first_at, tag, user_name,
user_status, view_count, work_thumb_nail
FROM
"user"
WHERE
user_id = <AI2X} ID>;
Explain

Params ows Total Cost Actual Total Time. Startup Cost Actual Startup Time Raw Desc

Planning Time = 0.19...
B3 Full Scan (Seq table: auth_provider; 10.88 0.009 0.0 0.008 Parallel Aware = fals...

Operations Tree

e Actual Total Time: 0.009

3tHm 72

Hibernate:
select
user@_.user_id as user_idl1_8_0_,



worksl _.work_id as work_idl_12_1_
user@_.created_at as created_2_8_0_
user@_.modified_at as modified3_8_0_
user@_.behance as behanced4_8_0_
user@_.detail as detail5_8_0_
user@_.device_token as device_t6_8_0_
user@_.email as email7_8_0_
user@_.first_work_id as first_wo8_8_0_
user@_.info as info9_8_0_
user@_.instagram as instagrl@_8_0_
user@_.magazine_view_count as magazinll_8_0_
user@_.notion as notionl12_8_0_
user@_.role as rolel3_8_0_
user@_.scrap_count as scrap_cl4_8_0_
user@_.selected_first_at as selectel5_8_0_
user@_.tag as tagl6_8_0_
user@_.user_name as user_nal7_8_0_
user@_.user_status as user_st18_8_0_
user@_.view_count as view_co19_8 0_
user@_.work_thumb_nail as work_th20_8_0_
worksl_.created_at as created_2_12_1_
worksl_.modified_at as modified3_12_1_
worksl_.detail as detail4_12_1_
worksl_.is_active as is_activ5_12_1_
worksl_.is_first as is_first6_12_1_
worksl_.photo_url as photo_ur7_12_1_
worksl_.title as title8_12_1_
worksl_.user_id as user_id1@_12_1_
worksl_.view_count as view_cou9_12_1_
worksl_.user_id as user_id10_12_0__
worksl_.work_id as work_idl_12_0_
from
"user" usero_

o APIE 2335t X9 user HHE 7= 2|, workE fetchJoindliM 7+ 2L}

SQL

SELECT
user@_.user_id AS user_idl_8_0_
worksl_.work_id AS work_idl_12_1_
user@_.created_at AS created_2_8_0_
user@_.modified_at AS modified3_8_0_
user@_.behance AS behanced4_8_0_
user@_.detail AS detail5_8_0_
user@_.device_token AS device_t6_8_0_
user@_.email AS email7_8_0_
user@_.first_work_id AS first_wo8_8_0_
user@_.info AS info9_8_0_
user@_.instagram AS instagrl@_8_0_
user@_.magazine_view_count AS magazinll_8_0_
user@_.notion AS notionl2_8_0_
user@_.role AS rolel3_8_0_
user@_.scrap_count AS scrap_cl4_8_0_
user@_.selected_first_at AS selectel5_8_0_
user@_.tag AS tagl6_8_0_
user@_.user_name AS user_nal7_8_0_
user@_.user_status AS user_st18_8_0_
user@_.view_count AS view_co019_8_0_
user@_.work_thumb_nail AS work_th20_8_0_
worksl_.created_at AS created_2_12_1_
worksl_.modified_at AS modified3_12_1_
worksl_.detail AS detaild4_12_1_



worksl_.is_active AS is_activ5_12_1_,
worksl_.is_first AS is_first6_12_1_,
worksl_.photo_url AS photo_ur7_12_1_,
worksl_.title AS title8_12_1_,
worksl_.user_id AS user_id10_12_1_,
worksl_.view_count AS view_cou9_12_1_,
worksl_.user_id AS user_id10_12_0__,
worksl_.work_id AS work_idl_12_0_
FROM
"user" user@_
INNER JOIN

Explain

B output  [EH Plan
Actual Total Time Startup Cost Actual Startup Time
Select
¥ Nested Loops (N¢ 3 . 0.028 A 0.026
EH Full Scan (Seq table: user; N 0.018 0.017

B Full Scan (Seq table: work; 3 3 0.007 0.006 Parent Relationship

Nested Loops (Inner):

e Actual Total Time: 0.028

o

o S HIO|S('work'zt 'user') 7te| RIS Rlsh= O A2 A AlZHILICE
Full Scan (on table: work):
e Actual Total Time: 0.018
o 'work' E|O|20IM & AZMS 3= O] Z2l AZHYLICH (B A2 QIEIAS ALESHX| 241 E|O|2
o HE HIAEE HA
Index Scan (on table: user, index: user_pkey):
e Actual Total Time: 0.07=

e 'user' HIO|E0M 7|2 7| QIEA (‘user_pkey')E AtE3510] QIEIA AZHS S3lSH= O ZEI A|ZHUL

ch.
48w 22|
Hibernate:
update
"work"
set
view_count=view_count+1
where
work_id in (
? ? ?

rot

e work idE 7|Z2Z Z0IM viewCountE LY 28{F= 2|

sSQL
update
"work"
set

view_count=view_count+1



where
work_id iHibernate:

update
"work"

set
view_count=view_count+1

where
work_id in (

<XdE ID 1> , <EHYUE ID 2> , <=UE ID 3>
)
Explain

B Output EH Plan

(=] Operation Params ows c ows Total Cost Actual Total Time Startup Cost Actual Startup Time Ra\

T ¥ = Update Planning Time = 0.14.
B Full Scan (Seq € table: work; 1.05 0.009 0.0 0.008 Parent Relations!

Operations Tree

e Actual Total Time: 0.009

SR A2| (HM Hat SL)

Hibernate:

update
"user"

set
created_at=7,
modified_at=7,
behance=7,
detail=7?,
device_token=7,
email=7?,
first_work_id=7?,
info=7,
instagram=7,
magazine_view_count=7?,
notion=7,
role=7,
scrap_count=?,
selected_first_at=7,
tag=7,
user_name=7,
user_status=7,
view_count=7,
work_thumb_nail=?

where
user_id=?

e user?| viewCountZ s2|= update #z|

SQL

UPDATE "user"
SET

view_count = <AH0|EE =35|4>;
WHERE

user_id = <AM2X} ID>;



Explain

B output [ Plan

=] Operation Params Ac ows Total Cost Actual Total Time Startup Cost Actual Startup Time Raw Desc

v = Update Planning Time = 0.1...
® IndexScan table: user; index: user_pkey; 815 0.016 4 0.015 Parent Relationship.

Operations Tree

e Actual Total Time: 0.016

6tHm 2|

Hibernate:
select
userscrap@_.user_scrap_id as user_scrl_10_,
userscrap@_.created_at as created_2_10_,
userscrap@_.modified_at as modified3_10_,
userscrap@_.status as status4_10_,
userscrap@_.target_id as target_i5_10_,
userscrap@_.user_id as user_id6_10_
from
"user_scrap" userscrap@_
left outer join
"user" userl_
on userscrap@_.user_id=userl_.user_id
where
userl_.user_id = <AtgXt ID>
and userscrap@_.target_id = <ERl ALXt ID>

o RXAC HYE ATYUS VIME HE

saL

SELECT
userscrap@_.user_scrap_id AS user_scrl_10_,
userscrap@_.created_at AS created_2_10_,
userscrap@_.modified_at AS modified3_10_,
userscrap@_.status AS status4_10_,
userscrap@_.target_id AS target_i5_10_,
userscrap@_.user_id AS user_id6_10_

FROM
"user_scrap" userscrap@_

WHERE
userscrap@_.user_id = <AfXt ID> AND
userscrap@_.target_id = <E}Zl A2X} ID>

Explain

B Output [ Plan

[5] Operation Params ows Act Total Cost Actual Total Time Startup Cost Actual Startup Time

T v + Select
EE Full Scan (Sec table: user_scrap; 27.7 0.011 0.0 0.011 Parallel Aware




e Actual Total Time: 0.011

i 22}

T Ml AlZt Hel o Az Hz| 7H4
M A 279ms (0.279s) 258ms (0.258s) 1174
I = 119ms (0.119s) 77ms (0.077s) 671

o = HOE7H 8oz
of 742 ZLick,



